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Estimate. Then divide.
1. 555,940 2. 251,295 3. 557,854 4, 3510,395
5. 4)1,208 6. 759,481 7. 2512,015 8. 6)$6,186
9. 4532 + 3 10. $5,648 ~ 2 11. $45.35 + 5 12. 12,728 ~ 4
13. 5490 - 9 14. 3,370 =~ 5 15. 3,759 = 3 16. 40,014 - 6
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Solve.

1.

An art museum hosted a Van Gogh art
exhibition. On one day, 3,762 people
attended. If the same number of
people attended each hour for 6 hours,
how many people attended each hour?

Georgina bought 4 photos of paintings
by Van Gogh. She spent a total of
$95.80. If each photo was the same
price, how much did each photo cost?

A country produced 49,276 books in
one year. If the same number of books
was produced every 3 months, how
many books were produced every 3
months? (Hint: 1 year = 4 groups of 3
months)

Mrs. Kraus bought 7 books at the
bookstore. She spent a total of $41.65.
If each book was the same price, how
much did each book cost?

Show your work.

Predict Karl read a book with 1,274 pages in 7 days. At this
rate, could he read a 1,432-page book in 8 days? Explain

your answer.
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